
63.1  W" 16.3  D" 31.7  H"× ×

HW1x6

Ø 6 x 35 mm
HW7x4

HW2x6

Ø 15 mm

HW3x22 HW4x6 HW5x1

HW8x24 HW9x4 HW10x4 HW11x1
Ø 8 x 30 mm

HW6x12

M 7 x 50 mm M 6.4 x 53 mm

M 4 x 16 mm

HW12x16

HW13x20 HW14x4 HW16x8HW15x4 HW17x48

HW19x14

HW25x8

HW20x4 HW22x2HW21x2 HW23x4 HW24x4

HW18x1

L 4

Ø15 mm Ø15 mm

A

B

C

D

E F
F

G

H
H

I
I

J
JK

K

LL
LL

9 x 14 x 10 mm

M 3.5 x 15.5 mm M 4 x 25 mm M 4.5 x 12.5 mm

M 3.5 x 32 mm 5003M 6.5 x 12.5 mm

WARNING :
WEIGHT CAPACITY:
DO NOT STAND ON TV STAND

68 LBS.



Part List & HW for Multi-Box Items
Piece
A HW1

HW2
HW3
HW4
HW5
HW6
HW7
HW8
HW9

Cambolt

CamLock

HW10

HW11
HW12
HW13
HW14
HW15
HW16
HW17
HW18
HW19

1 2 of 2
2 of 2

2 of 2

1 of 2
1 of 2
1 of 2
2 of 2

2 of 2
2 of 2
1 of 2

1 of 2
2 of 2

1
1
1
1

2
2
2
4
2

2
4

Top Board

Bottom Board
Side Board Left
Side Board Right

Centre Board
Adjustable Shelf
Bottom Skirt 1
Bottom Skirt 2
Leg
Frame Door Left
Frame Door Right
Back Board

B
C
D
E
F
G

H
I

J
K
L

Description Qty Carton Call Piece
6 1 of 2

1 of 2
1 of 2
1 of 2
1 of 2

1 of 2
1 of 2
1 of 2
1 of 2
1 of 2

1 of 2
1 of 2
1 of 2
1 of 2
1 of 2
1 of 2

1 of 2
2 of 2
1 of 2
1 of 2
1 of 2
1 of 2

1 of 2
1 of 2
1 of 2

6
22
6
1

12
4

24

4
4

1
16

20
4
4

8
48
1

14

2
2
4
4
8

4HW20
HW21
HW22
HW23
HW24
HW25

Description Qty Carton Call

Dowel
Screw M 7 x 50 mm

Screw M 6.4 x 53 mm

Screw M 4 x 16 mm

Screw M 3.5 x 15.5 mm

Screw M 4 x 25 mm

Screw M 6.5 x 12.5 mm

Screw M 3.5 x 32 mm
Fisher
Shelf Support

Screw M 4 x 12.5 mm

Hinge

Iron

Handle

Allen Key

Wedge

Nut
Ring Per 

Key

Corner Brace

Screw Cupper
Screw Cup
Cable Ties



60

1 2

3 4

A

1

3
C

D

E 3

3

A

C

D
E2

20 21

B

L
L L L

4 5

B

18
19

20



5 6

7 8

H

7 8

H

H
G

8

G

8

3

G
G



9 10

11 12

K

5
6

I

I

11

910

F
F

J

K

16 17
16

17



13 14

15

J

J
K

K

17

13

12

24

22
23

13

X
13 22

22

14 15

16




